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Quiz73A
1. (@) f; =12minutes (the same as the population mean). (b) Yes. It scems reasonable to

assume that the sample of 10 is less than 10% of the entire population calls.

(¢) No. The population distribution is skewed, and n = 10, which is not large enough for the
central limit theorem to apply.

2. @ .v(x>4uo)f.»[z>MJ—P(DO.71)=0,2339

400380
> 30380
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(©) The mean weight of a random sample of three apples i less variable than the weight of a
single randomly-sclected apple, so we are less likely to get a mean weight that is 20 gm above
the mean when we take a sample of three apples.

(b) P(¥>400)="P| 2 = P(2>124)=0.1075.
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Quiz 724

1L (@) =022 030-.022

0.0589
115 would not change, ; would be larger (0.073) and the distribution would be non-Normal,
since (1 p)=30(02)= 6, which is less than 10.

(d) “The largest sample we can take is 50, otherwise the sample would be more than 10% of the
population, and sampling without replacement would require  finite population correction to
calculate standard deviation.

2. (@) j, =0.06; 0, =0.0336. (b) P(p>0.08)= P(z

=0.0589 (b) P(p>030)= P(1> ]: P(z>136)=00869. (c)

0.08-0.06
5 008-0.06

- .60)=0.2743 .
0% J P(2>0.60)=0.274
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Quiz 7.1A
1. () p=0.37 isa statistic; p=0.41 is a parameter. (b) =128 is a parameter; o' =15 isa
parameter; ¥ =126.07 is a statistic. 2. Answers will vary, but the center of values for Statistic
A should be closer to the arrow than the center of the values for Statistio B, and there should be
more spread in the values for Statistic A. 3. (a) The population s all the guppies in the pet
store. We've been given the population mean /2= 5 cm and the population standard de
=0.5em. (b) The sample mean is ¥ = 4.8 cm and the sample size is n=10. (¢) No, it’s
merely an approximation of a sampling distribution generated by simulating 200 sample means
‘The actual sampling distribution includes the means from all possible samples of size 10 from
the population—many more than 200 values. (d) 21 out of 200, or 10.5% of the sample means
in our simulation are as far or farther below 5.0 s our sample was. Our sample is not
sufficiently unusual to arouse suspicions about the store’s claim.
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Test 7TA
Part1

a This proportion is the result of a poll—a sample—so it's a statisti
2. d Thisis the definition of a sampling distribution.

d Any time the center of a statistic’s sampling distriby
statistic is unbiased.
4. © The mean of the sampling distribution is the same as the mean of the population, and the
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5. ¢ Bvenif the sampling distribution is non-Normal, if the 10% condition is s
the appropriate formula for the standard deviation.

6. a See definition of central limit theorem on page 450 in text.
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7. b Forthe US,

8. e p= .75, Since 7 is small and we don’t know the shape of the

population distribution, the shape of the sampling distribution is unknown.

9. P(7>x):P[z>E"‘} P> St
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0.5-0.46
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